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-~ F - BAFRE R & S (discrete-time system ) o A T AT 5 4 x(n) £ ﬂﬁif;‘l r
y(n) fli%‘\».,ﬂﬁ%lﬂi o & yn)=3x(n)—-2x(n—-1)—-4 > A
OTEE & ;‘ﬂﬂ (linear) ? (GFEERBNEERTY 2 FERAKER ) (54)
OT &7 5 2L % (time-invariant) ? (GrE&ZEBNEFERTT > 2 5 E RMARER )
(52)
OTEF 482 (stable) ? (FERBIEET? > 2 FRERAHERL ) (54)

()4 5
1,ifn=0
X(m)=q . ’
0,ifn=0
Rlym)=? (AR einehgE & npimg s Fik-) (84)
@RFE 5@ |3 8 D% Y dyn)hz g (ztransform) o (7 4)

= ~F - B (low-pass) e § pF A 20 5L (continuous-time signal ) x(t) > HAF H &
20 kHz; 7§ — B fE b F PR UL y(0) 0 MR 5 50 kHz o 35 27 5 & ] 487
2 B3 % AT B4 F (Nyquist sampling frequency )
Ex()+y®) e (54)
Ox(t)xy(t) o (54 )
GEx(t) £ y(t) u2 4% » (convolution) - (54 )

=% - B 8 2P #kE (real-valued) ?/*UX(II) n=0,1,..7 > S X(k) & 2 AT
& = ¥ % (discrete Fourier transform ) ; H -5 3% 4

X(K) =137 xmyxe " for k=0,1,....7 -

BRI e o

X(0)=2,X(1) =1+ j,X(2) =2 j, X(3) = -3+ 21, X(4) = 4 -
(—)’j——;E-'-r 21 X(5),X(6),X(7) i o (54 )
(_)x(O)— ? (54)
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r o~ 3 - APPSR (linear time-invariant) 347 % 5 (discrete-time system) -
H 2% =28 (impulse response) %
[ 1,ifn=0
2,ifn=1
h(n)=1 :
—1,ifn=2
0, otherwise
()% B 5
3,ifn=0
—2,ifn=1
x(m)=4 1,ifn=2
1,ifn=3
0,otherwise
g~ gt h AT E D A y(m) & R o Bly(m)=? (GFAR RS g R on s
F97F F#kc- ) (104 )
O)F AR5
0,ifn<0
u(n) =+
1,ifn>0
i~ et R Rl engig i z(n) & o Rlzn) =7 (GRAR RfaE R on s
FOT BEceo ) (104 )
I ~F - BaM2pEg (linear time-invariant) H3gfepF F % 3L (discrete-time system )

H %J » 3 ’%’ix(n)l;’i?% DB y(n) 2. BFenhd v o d T 5 L 2 2 4238 ((difference
equation ) kg if :
y(n)=2x(n)—x(n—1)+3x(n-2)+ 1 y(n-1) -

4 etk Sehig e oo fic (transfer function) o FA R IF 0 E K % Bz e N
(ratlonal function) 3% o (54 )

O etk sk =8 % (impulse response) © (10 4 )

(_)p URREB N F N ke AVREY RT IR TR AEG 2R
(multiplier ) ~ 42 % (adder) ~ 12 g A iE (delay element) o FoiE KARP
x(n) 2 y(n) = H ¥ HizE o (54 )

(ED;—F. T\[—\;‘\ ,Fa - ,:": “vuZ,EL & — lﬁﬁﬁ:x:,}éj}i S (dlgltal ﬁlter) ’ E]J p /ﬁg/}i 3?){% Z-)B'T iEY—L

FIR (finite impulse response) jmi4 Bi# %_IIR (infinite impulse response ) Jait B ?
(FERBIERTT 2 FERA%HER) (54)



